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BC-02
December - Examination 2018
B. Com. Pt. | Examination
Business Statistics
Paper - BC-02
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 10 X2=20
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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(i) State two main functions of statistics.

i & q 9qE Bl I3

(i) What do you mean by secondary data?
fefiae o | 3Ny a1 |Hed © P

(iii) Give the definition of mode.
ggcTe bl GRS QI

(iv) What do you mean by standard deviation?
TIT9 ferer™ | arT 3N g 2

(v) If difference between two quartiles is 16, their sum is 38
and median is 24. Calculate the coefficient of skewness.

SFI g DI b HLT 3R 16 gl Il INT 38 g AT TEIDHT
24 g fqwHd orie Y TUFT B

(vi) What is splicing?
fRIE e @ giar g ?

(vii) State the limits of coefficient of correlation.
HEHGY 0N I AMN TRy

(viii) What is meant by analysis of Time series?

BT SFRT &b fA9emu J 319 =7 J931d ¢ ?

(ix) Explain the meaning of mutually exclusive events.
URROR 37UqSi] T BT 37 FHeAS|

(x) State the formula of finding out coefficient of correlation
on the basis of regression coefficients.
TRTIE UTih! & MR TR AgHad 0N SId IR BT T
ERIEN!
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Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.

(Tvs - 9)
(oTg ITRIT UeA)

fAder: fhgl IR WAl & IR SN 3T 3 IR Dl 3Ffehad

2)

200 great § AT HITTl T T97 10 37ept o gl

Give four points of difference between a census and a sample
enquiry.

O oI TGl SFHe™ H IR 3R Ja1gy|

Calculate Median of the AMP school Hindaun city from the
data given below:

v d, ¥qpe feved Rt & frAfeiRad dval & wezrat i TurT
HIRTU

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
No. of Students| 5 8 12 20 11 4

Find out coefficient of variation if mean is 30 and standard
deviation is 15.94.

feraRuT quTep ST IT S FH=oR H1egm 30 T JHY feraer
15.94 g1

What is skewness? How does it differ from dispersion?

fuHdT & T NI §? IS AR I b =1 g ?

Explain the concept of regression analysis.

U a9y & Rigra &t = HIT|
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7) Differentiate between fixed base and chain base in the
construction of Index Number.
TIDID] Dl TAAT H RRR YR AT AT MR AR 7 3R
Eﬁllt_rIQI
8) Explain moving average method of measuring long term trend.

STl TR S0 PR &l et J1eg AT B FHsT |

9) Two dice are tossed. What is the probability that the sum
shown will be 7 or 11?
Q UNY thapd R 3 91 1 a1 TR g b 3rmarer 3t @
N 7 a1 11 gl

Section-C 2X20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
20 marks.

(Tvs - w)
(Sref ST ¥9d)

fAder : fopgl Q) weAl & IR SV 31T 31U SR B 31frpas 500
grecl o gRIANTT BT 81 UAb U9 20 3ihi & gl

10) What are the various methods of collecting statistical data?

Which of these is most reliable and why?
Hifegehra At & FUgUr Bt A= Afcrr aar g 2§94 | it
3T Tt <ifires faeasaig g ofik i ?
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What is Trend? How would you find out the trend values by the
method of least squares? lllustrate by a numerical example.

SUART &7 8?7 =gdad g GRT 39 SUART Jod &l ATH

B ? TITHD IGIER0 SR FHSHTSU|

From the data given below calculate the cost of living index
number for prices for the year 2017 with 2016 as base by
family budget method.

2016 @1 YR ¥ FF §Y AIRaRe Foic fafer GRT =1 et
2017 & el & Sfted Fafg gereie sid HiTl

Group Quantity Unit Price | Price
Consumed 2016 | 2017
in 2016 ) )

1. Food grains 03 quintal | Per quintal 12.00| 18.00
2. Clothing 12 mts. per mt. 1.00 0.90
3. Fuel 40 kg. per kg. 0.20 0.25
4. House Rent 3 rooms per room 25.00| 28.00
5. Misc. 30 units per unit 0.40 0.50

A pot contains 4 white and 6 red balls. Two draws of 3 balls
each are made. Find the probability that the first draw will give
all the three white balls and the second all the three red balls if
these balls are replaced before the draw?

T g H 4 Jhe 3R 6 o1 Iic &1 3 e g IR Hepleil St 8
IRy ST IR & ugef! aR <fHl At 3R @R IR dl
et g fraetlt, afg ugeft IR el 12 1< g ama @
ST Bl
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